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0DUWHV����GH�RFWXEUH�GH�����

(Q�/LPD��D�ORV�YHLQWLGyV�GtDV�GHO�PHV�GH�RFWXEUH�GH�GRV�PLO�GRV��VLHQGR�ODV�
QXHYH�KRUDV�FRQ�FXDUHQWD�\�GRV�PLQXWRV��VH�UHXQLy�OD�&RPLVLyQ�GH�
(GXFDFLyQ��&LHQFLD�\�7HFQRORJtD�HQ�OD�6DOD��0DULDQR�6DQWRV��GHO�3DODFLR�
/HJLVODWLYR��EDMR�OD�3UHVLGHQFLD�GHO�VHxRU�&RQJUHVLVWD�0DUFLDO�$\DLSRPD�
$OYDUDGR��FRQWDQGR�FRQ�OD�SUHVHQFLD�GH�ORV�VHxRUHV�&RQJUHVLVWDV��(UQHVWR�



$UDQGD�'H[WUH��0HUFHGHV�&DEDQLOODV�%XVWDPDQWH��*ORULD�+HOIHU�3DODFLRV��
(QLWK�&KXTXLYDO�6DDYHGUD��*RQ]DOR�-LPpQH]�'LRVHV��+XPEHUWR�5HTXHQD�
2OLYD��-XOLD�9DOHQ]XHOD�&XpOODU��(PPD�9DUJDV�GH�%HQDYLGHV��0DQXHO�
%XVWDPDQWH�&RURQDGR��0DUWKD�+LOGHEUDQGW�3pUH]�7UHYLxR��3HGUR�5DPRV�
/RD\]D��'DQLHO�5REOHV�/ySH]

-XVWLILFDURQ�VX�LQDVLVWHQFLD�ORV�VHxRUHV�&RQJUHVLVWDV��&pVDU�$FXxD�3HUDOWD��
+LSyOLWR�9DOGHUUDPD�&KiYH]��5RGROIR�5D]D�8UELQD�\�5yJHU�6DQWD�0DUtD�GHO�
ÈJXLOD�

&RQWiQGRVH�FRQ�HO�TXyUXP�UHJODPHQWDULR��HO�3UHVLGHQWH�GLy�LQLFLR�D�OD�
VHVLyQ�
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(O�3UHVLGHQWH�GH�OD�&RPLVLyQ�VROLFLWy�REVHUYDFLRQHV�DO�$FWD�GH�OD�VHVLyQ�GH�
IHFKD����GH�RFWXEUH�GH������\�QR�KDELHQGR�REVHUYDFLRQHV�IXH�DSUREDGD�SRU�
XQDQLPLGDG�
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(O�3UHVLGHQWH�GHWDOOy�ORV�3UR\HFWRV�GH�/H\��DVt�FRPR�RWURV�GRFXPHQWRV�
LQJUHVDGRV�HQ�OD�VHPDQD�D�OD�&RPLVLyQ��ORV�TXH�IXHURQ�UHPLWLGRV�FRQ�OD�
$JHQGD�GH�OD�6HVLyQ�DO�'HVSDFKR�GH�ODV�VHxRUDV�\�VHxRUHV�&RQJUHVLVWDV�
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Â�/D�&RQJUHVLVWD�*ORULD�+HOIHU�3DODFLRV�VROLFLWy�VH�EULQGH�3HQVLyQ�GH�*UDFLD�
DO�6U��$OHMDQGUR�5RPXDOGR�9DOOH��SLGLHQGR�TXH�OD�&RPLVLyQ�KDJD�VX\R�HVWH�
SHGLGR��\D�TXH�GLFKR�SHUVRQDMH�VH�HQFRQWUDED�SDVDQGR�SRU�XQD�VLWXDFLyQ�
GHOLFDGD�\�GLItFLO��VLHQGR�pVWH�HO�PRPHQWR�GH�VHU�VROLGDULRV�
Â�/D�&RQJUHVLVWD�(PPD�9DUJDV�GH�%HQDYLGHV�VROLFLWy�VH�LQYLWH�DO�3UHVLGHQWH�
GHO�&RQVHMR�1DFLRQDO�GH�(GXFDFLyQ�SDUD�TXH�H[SOLTXH�ODV�GLVFUHSDQFLDV�
H[LVWHQWHV�HQ�HO�SUHVXSXHVWR�GHO�6HFWRU�(GXFDFLyQ�
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��,QIRUPH�GH�OD�&RQJUHVLVWD�*ORULD�+HOIHU�3DODFLRV�VREUH�OD�/H\�0DUFR�GH�
(GXFDFLyQ�
/D�&RQJUHVLVWD�*ORULD�+HOIHU�3DODFLRV�KL]R�FRQRFHU�HO�WUDEDMR�TXH�YLHQH�
UHDOL]DQGR��SODQWHDQGR�OD�PHWRGRORJtD�\�&URQRJUDPD�GH�OD�IRUPD�VLJXLHQWH�
0DUWHV���GH�QRYLHPEUH�HQWUHJD�GHO�'LFWDPHQ��UHFHSFLyQ�GH�DSRUWHV�KDVWD�HO�
GtD����GH�QRYLHPEUH��GHO����DO����GH�QRYLHPEUH��SURFHVDPLHQWR�GH�ORV�
DSRUWHV��PDUWHV����VH�FRPHQ]DUtD�HO�GHEDWH�FRQFOX\HQGR�HO�GtD����GH�
QRYLHPEUH��OD�SULPHUD�VHPDQD�GH�GLFLHPEUH�LQJUHVDUtD�DO 3OHQR�GHO�
&RQJUHVR��'HVSXpV�GH�XQ�LQWHUFDPELR�GH�RSLQLRQHV�VH�DSUREy�SRU�
XQDQLPLGDG�OD�PHWRGRORJtD�\�&URQRJUDPD�SURSXHVWR��

��,QIRUPH�GHO�&RQJUHVLVWD�(UQHVWR�$UDQGD�'H[WUH��3UHVLGHQWH�GH�OD�
6XEFRPLVLyQ�HQFDUJDGD�GH�LQYHVWLJDU�ORV�VXFHVRV�WUiJLFRV�RFXUULGRV�HQ�OD�
$FDGHPLD��1XHYD�*HQHUDFLyQ��GH�3XQR�
(O�VHxRU�&RQJUHVLVWD�(UQHVWR�$UDQGD�'H[WUH�LQIRUPy�D�OD�&RPLVLyQ�
VHxDODQGR�ODV�LQYHVWLJDFLRQHV�UHDOL]DGDV��ODV�FRQFOXVLRQHV�\�
UHFRPHQGDFLRQHV�D�ODV�TXH�KDEtD�DUULEDGR��ODV�FXDOHV�FRQVWDQ�HQ�HO�DFWD�GHO�
GtD�PDUWHV����GH�RFWXEUH��FRQVLVWHQWHV�HQ�OD�UHPLVLyQ�GH�OR�DFWXDGR�DO�)LVFDO�
3URYLQFLDO�GH�7XUQR�SDUD�TXH�IRUPXOH�GHQXQFLDV�SHQDOHV�SRU�ORV�SUHVXQWRV�
GHOLWRV�GH�KRPLFLGLR�FXOSRVR�\�OHVLRQHV�FXOSRVDV��FRQWUD�:DOWKHU�4XLxyQH]�
&FRULPDQ\D��-RUJH�/XLV�&KXPEHUL]D�0DQ]R��)UDQFLVFR�$XJXVWR�0DULVFDO�
)ORUHV��0LJXHO�*DEULHO�4XLVSH�$FKDWD��3HGUR�0LJXHO�9iVTXH]�0HQGR]D��
$ELPDHO�/XQD�/DXUD��-XDQ�0DPDQL�6DODV�\�-XDQ�-RVp�0DPDQL�1RULHJD��SRU�
SUHVXQWR�GHOLWR�GH�DEXVR�GH�DXWRULGDG�FRQWUD�-XOLiQ�6DODV�3RUWRFDUUHUR��\��
UHFRPHQGDU�DO�0LQLVWUR�GH�(GXFDFLyQ�TXH�VH�DEUD�SURFHVR�DGPLQLVWUDWLYR�
FRQWUD�0DULR�*DOOHJRV�0RQWHVLQRV��H[�'LUHFWRU�5HJLRQDO�GH�(GXFDFLyQ�GH�
3XQR��ODV�TXH�IXHURQ�DSUREDGDV�SRU�XQDQLPLGDG��GLVSRQLpQGRVH�VX�HQYtR�DO�
3OHQR�

��3UHVHQWDFLyQ�GHO�0LQLVWUR�GH�(GXFDFLyQ�
(O�3UHVLGHQWH�GH�OD�&RPLVLyQ�GLR�OD�ELHQYHQLGD�DO�6HxRU�0LQLVWUR�GH�
(GXFDFLyQ��'U��*HUDUGR�$\]DQRD�'HO�&DUSLR��TXLHQ�OXHJR�GH�DJUDGHFHU�OD�
LQYLWDFLyQ�TXH�OH�SHUPLWtD�FXPSOLU�FRQ�VX�REOLJDFLyQ�FRQVWLWXFLRQDO�GH�DVLVWLU�
DO�UHFLQWR�GHO�&RQJUHVR��LQLFLy�VX�H[SRVLFLyQ�VHxDODQGR�TXH�VH�KD�DYRFDGR�D�
OD�FUHDFLyQ�GH�XQ�QXHYR�PRGHOR�HGXFDWLYR�GH�LQIRUPDFLyQ�VLVWHPDWL]DGD��
ILMDQGR�ODV�FRPSHWHQFLDV�\�GLULJLGR�IXQGDPHQWDOPHQWH�DO�iUHD�GHO�OHQJXDMH�\�



GH�ODV�PDWHPiWLFDV��LQFLGLHQGR�HQ�XQD�HGXFDFLyQ�HQ�YDORUHV��FRQ�OD�WDEOD
D[LROyJLFD�GH�HVH�LPSHUDWLYR�FDWHJyULFR��HO�ELHQ��OD�MXVWLFLD��OD�XWLOLGDG��OD�
EHOOH]D��GLVHxDQGR�XQ�FXUUtFXOR�LQWHJUDO�TXH�FRQWXYLHVH�HO�YDORU�HVWpWLFR�\�
PRUDO��DVt�FRPR�OD�RULHQWDFLyQ�YRFDFLRQDO�\�SURIHVLRQDO��'H�RWUR�ODGR�
HQIDWL]y�HQ�HO�GHVDUUROOR�GHO�3UR\HFWR��+XDVFDUiQ���SXHVWR�TXH�HO�PDQHMR�GH�
OD�LQIRUPiWLFD�HV�LQGLVSHQVDEOH�SDUD�SUHSDUDU�HGXFDQGRV�FRQ�HILFLHQFLD�\�
FRPSHWLWLYLGDG��\�TXH�SDUD�HVWH�ILQ�VH�FRQWDED�FRQ�HO�DSR\R�GHO�,QVWLWXWR�
7HFQROyJLFR�GH�0RQWHUUH\��tQWLPDPHQWH�OLJDGR�DO�,QVWLWX
WR�7HFQROyJLFR�GH�0DVVDFKXVVHWV�\�TXH�OD�,%0�KDEtD�RIUHFLGR�VX�
FRODERUDFLyQ��'LMR�DGHPiV�TXH�HO�3UR\HFWR��+XDVFDUiQ��VH�H[WHQGHUtD�KDVWD�
HO�DxR������
(O�QXHYR�PRGHOR�GH�JHVWLyQ�HGXFDWLYD�SURSXHVWR�VH�VXVWHQWD�HQ�XQD�
UDFLRQDOL]DFLyQ�TXH�VH�VLQWHWL]D�FRQ�OD�VLJXLHQWH�IUDVH���D�LJXDO�WDUHD��LJXDO�
VDODULR��SHUR�TXH�ODPHQWDEOHPHQWH�HVWD�ODERU�VH�HQFXHQWUD�HQ�PDQRV�GH�
WUDEDMDGRUHV�FRQWUDWDGRV�\�TXH�DO�UHVSHFWR�HVWDED�HVWXGLDQGR�XQ�
SODQWHDPLHQWR�SDUD�GDU�PD\RU�FRQWLQXLGDG�D�GLFKRV�SURIHVLRQDOHV�
0DQLIHVWy�WDPELpQ�TXH�OD�DFWLWXG�GHO�*RELHUQR�DQWHULRU�VH�KDEtD�
FDUDFWHUL]DGR��HQ�VX�RSLQLyQ��FRPR��KXUDxD��IUHQWH�D�OD�&RPXQLGDG�
,QWHUQDFLRQDO�\�TXH�DKRUD�\D�VH�WHQtD�XQ�SODQ�GH�LQYHUVLRQHV�TXH�LQFOXtD�
DSRUWHV�FUHGLWLFLRV�VLJQLILFDWLYRV�SRU�SDUWH�GHO�%DQFR�0XQGLDO��%DQFR�
,QWHUDPHULFDQR�GH�'HVDUUROOR�\�GHO�*RELHUQR�GH�,VUDHO�
)LQDOL]y�VX�H[SRVLFLyQ�SLGLHQGR�OD�FRODERUDFLyQ�GH�OD�&RPLVLyQ�H[SUHVDQGR�
TXH�HO�/HJLVODWLYR�\�HO�(MHFXWLYR�HUDQ�VRFLRV�HVWUDWpJLFRV�
$FWR�VHJXLGR�VH�SURFHGLy�FRQ�OD�URQGD�GH�SUHJXQWDV�GH�ORV�VHxRUHV�
&RQJUHVLVWDV�PLHPEURV�GH�OD�&RPLVLyQ��KDFLpQGRODV�ORV�&RQJUHVLVWDV�
+XPEHUWR�5HTXHQD�2OLYD��-XOLD�9DOHQ]XHOD�&XHOODU��0HUFHGHV�&DEDQLOODV�
%XVWDPDQWH�\�(UQHVWR�$UDQGD�'H[WUH��TXLHQHV�VH�SUHRFXSDURQ�SRU�OD�
GHVLQIRUPDFLyQ�GH�ORV�DOXPQRV�FRQ�UHVSHFWR�D�ORV�KpURHV�QDFLRQDOHV��OD�
VLWXDFLyQ�GH�ORV�PDHVWURV�UXUDOHV�\�OD�LPSOHPHQWDFLyQ�GH�OD�LQIRUPiWLFD��
'DQGR�UHVSXHVWD�HO�VHxRU�0LQLVWUR�GLMR�TXH�VH�KDEtD�SODQWHDGR�UHIRUPXODU�OD�
HQVHxDQ]D�GH�OD�+LVWRULD��TXH�VH�HQFRQWUDED�UDFLRQDOL]DQGR�DO�SHUVRQDO�
GRFHQWH�\��HQ�FXDQWR�D�OD�LQSOHPHQWDFLyQ�GH�OD�LQIRUPiWLFD��FRQ�OR�H[SXHVWR�
VREUH�HO�3ODQ��+XDVFDUiQ��\�VX�GXUDFLyQ�SUR\HFWDGD�KDVWD�HO�DxR�������
PRVWUDED�OD�SUR\HFFLyQ�\�SROtWLFD�GHO�*RELHUQR�HQ�HVWD�PDWHULD��$FWR�VHJXLGR�
IRUPXODURQ�SUHJXQWDV�ORV�&RQJUHVLVWDV�3HGUR�5DPRV�/RD\]D��*RQ]DOR�
-LPpQH]�'LRVHV��0DUWKD�+LOGHEUDQGW�3pUH]�7UHYLxR��0DQXHO�%XVWDPDQWH�
&RURQDGR��(PPD�9DUJDV�GH�%HQDYLGHV�\�*ORULD�+HOIHU�3DODFLRV��TXLHQHV�
PRVWUDURQ�LQWHUpV�\�SUHRFXSDFLyQ�SRU�VDEHU�ODV�SUHYLVLRQHV�DQWH�HO�IHQyPHQR�
GH��(O�1LxR���OD�UHFXSHUDFLyQ�GH�OD�LQIUDHVWUXFWXUD�HGXFDWLYD�GH�ORV�FROHJLRV�
FHQWHQDULRV��HO�QLYHO�\�FDSDFLWDFLyQ�GH�ORV�GRFHQWHV�\�ORV�UHFXUVRV�SDUD�
DIURQWDU�ODV�VROXFLRQHV�H�LQQRYDFLRQHV�TXH�KDEtD�HQIRFDGR�HQ�VX�H[SRVLFLyQ��



(O�VHxRU�0LQLVWUR�UHVSRQGLy�TXH�HQ�OR�TXH�WRFD�DO�IHQyPHQR��(O�1LxR��WHQtD�
XQD�SURYLVLyQ�GH��
��������1XHYRV�6ROHV��TXH�VH�HVWDED�WUDEDMDQGR�HQ
OD�UHFXSHUDFLyQ�\�UHVWDXUDFLyQ�GH�ORV�FROHJLRV�FHQWHQDULRV��TXH�VH�HQFRQWUDED�
HVWDEOHFLHQGR�XQ�QXHYR�HQIRTXH�HQ�FXDQWR�DO�GHVHPSHxR�GH�ORV�,QVWLWXWRV�
3HGDJyJLFRV�SDUD�OD�ySWLPD�IRUPDFLyQ�GH�ORV�GRFHQWHV��\��SDUD�DIURQWDU�ODV�
VROXFLRQHV�H�LQQRYDFLRQHV�SURSXHVWDV��PDQLIHVWy�TXH�HUD�QHFHVDULR�DSOLFDU�
XQD�HVWUDWHJLD�FUHDWLYD�\�GH�DSURYHFKDPLHQWR�DO�Pi[LPR�GHO�tQWHJUR�GH�ORV�
UHFXUVRV�TXH�SRVHHQ�ORV�FHQWURV�HGXFDWLYRV�D�HIHFWRV�GH REWHQHU�5HFXUVRV�
'LUHFWDPHQWH�5HFDXGDGRV�TXH�SXGLHVHQ�VHU�HPSOHDGRV�HQ�VX�EHQHILFLR�
6LHQGR�OD�GRFH�\�FLQFXHQWD�PLQXWRV�GHO�GtD�\�QR�KDELHQGR�RWUR�SXQWR�D�WUDWDU�
HO�3UHVLGHQWH�OHYDQWy�OD�VHVLyQ�
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